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2.1 AP Practice Problems (p.171) — Rates of Change and the Derivative j ng
| X'ty . L -
/

1. Thelinex+y=35is tangent to the graph of y = f(x:} at the
=5-x | y=-]

point where x = 2, The values f2) and £y an
B fAO=LA=-1 [@®)] o) s, f'(z) =

© f@=2%FO=1  ®) to)o3 pay_1 /ff'(sz):s“»g -3 [4(@) 1/
|

6 & 16 12 14 :63: -

'_em f‘(3) éoes otexist
+ %)= 6x

AD=¢(pdia]

fge; 'at‘ the; fumtxozt :

’rhe ;mmt {6 mZ) ison ttw gtaph ofy= _f (x). Axx equation ef
the: mngmt line to t}m g;agxh of f at (6, mZ} i

o ,p((() 3 Pmn'} (( \2) 11 :j‘ I’“()('-Xs)
e m=3 , Ol)@, mz3 //‘;’;@3 3(}(»[)[




¥ ﬂ [feendfe. //mﬂé J’ fuition o Jm M/ﬂl IU*% |
‘ e, w(//#‘) (:(X) J? ) } ()( o i
“C (C) X“l-té v ( )m(’ 4/) (’:‘,)?)

wal )

p{v{’é’/‘&lcmyﬂﬂ (é QF(;K}Q"L réc;lﬁt

€B) fis ;; fined at x =  "}3.,

u'fl'; “(nr/; Vj,e 2 . :'f;
g) o fuachion () lf-f AﬁwicJ -

‘(1\, Vvt'rfr CMC;J -

C‘/'W' n laoSr’hDV\

s(5)=100  5(6)=0

"A""’f‘ /in "éi ymd.

_*z A,y 7%@ ? it /va;mml’lwu
- Are mmw‘dg/é’

Useihe: tabla to! aypmmaw ﬁ' (5} . A
A(7)-A(5)  go- -
/4(«3» S A 4. MW e A4) o7 ~“// <
op 78 7z M//**? |

Ac@w(@)_ &1 gy
oraaa s




AX = &, if{’ xX4a |
) M) a f x>t ! kej
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2.3 AP Practice Problems (p. 193) — Derivative Power Rule & exponential e*
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2.4 AP Practice Problems (p. 206) — Product & Quotient Rule & Higher order derivatives
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2.5 AP Practice Problems (p. 214) - Derivatives of Trig Functions
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Ch.2 Review AP Practice Problems (p. 220) — Derivative definition and properties
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